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(1) First 15 minute are allotted for the students to read the question
paper.

(2) All questions are compulsory.

(3) There are 5section in this paper sectionA, B, C,DandE.

(4) Section Aand B have 1 marks, sectionAis M.C.Q. and section B is
very short type.

(5) Section C has 2 marks and | short type questions .

(6) Section D has 3 marks and |l type short type questions.

(7) Section E has long answer type and each question has 5 marks and

internal choice.

Hug ‘¥ Section - A
1 (%) U 5 9. A arel Oy $ @RaEe My 6998 3 39 YR
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(iv) ) [ra o) 26 QA @ G W
(a) A metallic hollow spherical surface of radius 5 cm, is charged

such that the potential on its surface is 10 v and potentia| ot the
centreis -

(i) Ov (i) 10v

(i) same as at a point 5cm away from the surface

(iv) same as at point 25cm away from the surface.

(@) U 24 QU 1A TR P Yb WETE PN[ol B &9 ¥ wrgy

STt & fRdY 3 fheIRY @ §ra ufaRw 2 1
() 9/4Q (i) 24 Q
(i) 12 Q (iv) 16/30Q

(b) A. wire of 24 Q resistance is bent in the form of a equilateral
triangle then effective resistance is between any two corners

I1S=-
(i) 9/40 (i) 24Q
(i) 12Q

(iv) 16/3Q
@) Wuma-cﬁqﬁwﬁﬂﬂoon, X, =200 Q T X, = 200 Q

Mmﬁ@%mﬁaﬁmmwﬁaﬂmﬁwﬁq

1
(i) 0 . (i) 30°
(iii) 45 (iv) 90°
(c) In trTe alternating circuit R=100 Q » X.=200Q and Xc=2000
are in series the phase difference between voltage and current

IS -
(l.}. 0 n (i) 30°
. (i) 45 (iv) 90°
U 91T AR ¥ 1C &1 amarsy [
P e varfed ? ar I FFSTAT B
(i) 6.25x10" i 1
i i i
" (i) 6.25x10" Eiu?) ﬁl:r?: 0
if a wire has 1¢ char
ge the
thetorm o N no. of free electron flown between
(i) 6.25x10™

(i) 6.00x 10"

(2)
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(i) 5.25x10" (iv) None

(®) Aega &= &) Asar &1 9P & - 1
(i) dree /Hrex (i) aree /AR
(iii) Tree—dex (iv) Tree—wed
(d) Unit of electric field intensity -
(i) Vim (i) Vim?
(iil) Vm (iv) vm?
(@) frata & Rga e &1 a6 & - 1

(i) HET/geA M (i) Yed are / Ae}
(i) e AR /FJ@mT (iv) eI/ e
(e) Unitof permittivity of free space -
(i) C*Nm? (i) NV/m?
(iiil) Nm?¥C? (iv) N/C

Eus ‘g Section-B
(@) TF HUSA | BT TEHI T 0.1 secH 1 IR F 0.1 IR
Fx faar oimar & greeh # ARG fya aee I F1 A
BT | 1
(a) The magnetic flux associated with a coil is changed from 1
weber to 0.1 weber in 0.1 sec. What will be the magnitude of the

induced e.m.f?

(&) g T Y IR e |Ee fray | 1
(b) - Write down electric flux definition and its unit.

(1) dega wfrver o1 i @ AT PITT | 1
(c) Derive the dimensional formula of electrical resistance.

(@) fava ggerar 3 RETST SIS | 1
(d) Define Potential Gradient.
(—e'.)alaﬁﬁﬁﬂ$f§?ﬂﬂqﬁwa?rwﬁmﬁﬁaﬁﬁm 1
(e) Define second focus ofa Concave Lens.

(=) ﬁgﬁﬁ'ﬁﬁqﬁﬂmﬁﬂﬂﬁ'ﬂﬂ?ﬁfﬁf@tﬂ 1

() Define the electric potential and its dimension formula.

(3)
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9.3 (Eﬁ)ﬂ?ﬁﬁ?aﬂugwra?ﬁwqﬁuﬂﬁmamaﬁm%m;
FHATaR T 8N | 59 gfuer ¥ URor ufdena & g3 faiRkae ) 2 |

(a) What is the phase difference between current and voltage in g
purely inductive alternating circuit? Write down the formula of

Inductive reactance of this circuit.
(@) frzars @1 uorq s RiRag o a5l A feas deeor o«
AENMRT & | 2
(b) Write the first law of Kirchoffs and explain on which
conservation principle it based.

(‘T)ﬁﬁrsﬁﬁsszrhﬁrmaﬁﬂmc-mﬁé‘r%r 2
(c) SothatC= /i, for speed of lightin vacuum.
(H)am}ﬁaéwﬁw%ﬁﬂqmémﬁmﬂfﬁﬁam 2

Define Bio Savart law also write this vector form.

¥ ug ‘G Section -D
9.4 (&) 3177 o aTg B T |HE A Y aR @ Aee dgga aF
P raar 9 D A | 51 P 3

(a) Find out the electric field intensity near uniform charged
straight wire of infinite length with Gauss Law.

(@) fafdre arerear ger fafdre uftfly & T arcgd 872 <91 &
A Tt i g s HRY | 2

(b) What do you understand by specific conductance and specific
resistance. Derive its dimensional formula and write its unit

also.
(1) frraardt | B 9 @ amaRe afeRe &) sta &= @ farg
ufRyer @ oI g3 &1 e a1 | 3

Draw a circuit diagram to find the internal resistance of a cell ;
with the help potentiometer and derive tha formula used.

(H)%amﬁﬁiwﬁaaﬂﬁwﬁawﬁ—cv’@?ﬁ%l 3 i
(d) Prqlve that the potential energy of charged cunducturfcapac:tnr
is 5 CV*.

() 7 1 3 SR fore | R < T gt & g
&= & dadT & &fas ues 9 FHtd uesd @ A9 HAL: 0.3x10™

(4)

https://www.upboardonline.com



qua

JAY /AT AT 3V3IX107qqR /9 &Y &) 99 W9 gX gedql &

ol BT & B A e ARy For ) s AfC 3

(e) Define angle of dip at a certain place on the earth. The
magnitudes of the horizontal component and the vertical
component of earth. Magnetism field are 0.3x10™* weber/m’
and 3V3x10*weber/m’ respectively then find the total intensity
of earth's magnetic field and angle of dip.

(@) R T dega aRuy A A qur B B 99 ey B T
Y | 3

(a) FindoutV,,between pointAandBwhere i, 10v 30
V., = Potential difference. D % c
— B

A —e—{ =—MAN—
F-:Z-IELJJ&——'E
(E)ﬁﬂﬁsﬁﬂi’ﬁ%mﬂwﬁmmmﬁ%?mmw
a’#iﬁ?ﬁa%wm?#?sﬁwaﬂlgoa@ﬁnaﬁwwﬁﬂm%
uﬁuﬁrﬁﬁ’mﬁaﬁgﬁsﬂaﬁﬁﬁaﬁms.axw“ﬁm

g PfT | 3
(i) g EAT | (i) T BT AT AT
(b) What do you mean by drift velocity of free electrons? 90
coulomb charge flows in 75 minutes in a silver wire of 1 mm
diameter if number of free electrons per cm’® is 5.8x10” then
find out.
(i) current (ii) driftvelocity of electrons
oTfar 1 uF & 3y 578 f5d TR wafoTe

@) TR G ¥ gadn
w8 ¥ gog enfar & () 0.75uF (ii) 4/3uF B T |

(c) If four capacitor each are 1 uF then how can you arranged it to
make the equivalent capacitance becomes (i) 0.75uF

(i) 4/3uF.

farga aRuer wwl Rt A HErRAT § "o
mﬁ@zﬁﬂ%%ﬁmwmmswaﬁm. PQ,R S
R} yomalt B AR 8 | 3

(d) With the help of Kirchhoff's laws related with an electrical circuit
obtain the condition of balanced state for wheat stone bridge

ie.P/IQ=R/S,P.Q, R, Sarethe resistance of the four sides.

3

(5)
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(@) AN A XA @Y enfkar e @t WKt SIS wqra
QY @ dve anil¥ras wu A uRIAYcr yErel w@n 2 3
Darive the formula for the capacitance of a parallel plate
capacitor partially filled with a dlelectric medium.

Uy ‘g’ Section - E E el

&) AU SRIATE) TIeBi B g Y a1 4 T = s @ fag

QA aferT ARG | <o 1 gfRrgR ey a8 afdre el | 5

Derive the formula Ea E%f—* for two parallel current carrying

conductor also define the definition of 1 Ampere.

31qqr /or

ofrR B aRoehg e fafg | e wEEd ¥ gRIETe

uReifereT @ fieR IS A IR FEHIY & @ dgar wd

Mg | 5

Write the Ampere circuital law. With the help of this law derive the

formula of magnetic field intensity on axis of current carrying
solenoid. https://www.upboardonlinc.com

ORI AT A A9 FT THI. A7 afy wuiRy & < & a9 F
ol eI R URIAEP K aTel URTayd geref Ot ORE | W e W
TR &1 eMRAT BT AP TR DI | 5

What do you understand by dielectric polarization? Find the
expression for the capacitance of a condenser when entire space
between the plates is filled with dielectric of dielectric constant K.

34T / or
Waﬁmﬁh@ﬁaﬁmﬁﬁﬁaﬁAwsz#mqm
IRET Y ToET P |

Find out equivalent capacitance of the below arranged capacitors

combination between printAand B.
1uF

EMFT_l F'F__L.mF
20F T T 2uF 12pF

STIGTR BT Rigia 71 82 Sward aer sraard) giawmv F o
SeoifEgd FIT SFAwR A Sorf 8/ @ FROT @7 S
PHITY | 5
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what 15 the principle fo transform
potween step-up and step-down trg

of energy loss intransformer he causes
HAGT / or

i B A FEBR IRor PRt 4 S BRI gt A

b1 UCTNT 4T B [T ¢ = o +bt+cqqw TR aRaffa gar 2

() a.bddcd qﬁlﬂi?ﬂﬁaﬁﬁ;ml

) % a=0.3,b=0.6gqy C=0.8 HT3% B A t= 2 Ywve wr IR
R are® get 3 oy ISy |
State Faradsy's laws of electromagnetic induction the flux of
magnetic field changes with time according to the equation
¢ =at’ +bt +cweber -
(i) Findtheunita,b,c.

() If a =03, b=06andc =08 unit then calculate induced
electromagnetic force att=2 sec.

R@Wmaﬁﬁwwwqgmaﬁmwaqd%
fom 3 e g e we gres arETh @ aR SRS |
Arcedex aur arfiex d arar faifkay | 5
Obtain the formula of torque acting on a current loop placed in a

uniform magnetic field and define moving coil galvanometer.
Differentiate Voltmeter and Ammeter.

. HIqr / or '
vigax &1 aRuella Fram war @ ? 39 weaar § v awmard)
FRET T TS D BRO FHA g W 9o ey 8
P digar & foq s ara SR |
U TR AR W 10 A e SIRT FAIRA B 7@ & | 39 10 cm g W
Rera =g o= S0 graasrg &3 31 Marar sra Hifvrg |

What is Ampere's circuifal law? Obtain the formula for the magnetic
field produced at a pont due to a straight long linear current carrying
conductor with its help.

A current of 10 A is flowing in a straight iong conductor. Find the
intensity of magnetic field produced at a point 10 cm from this
conductor.
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